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Negotiation is a ubiquitous and consequential form of
economic interaction. It is deal-making in the absence of a
designer. We propose a theory of negotiation in which
deals have many aspects. This leads to new results
showing that efficient trade is possible even with
substantial asymmetric information, which we show via
both theory and experiments.

In a robust class of settings of asymmetric information, the
benefits of identifying areas of mutual gain redirect agents
away from posturing and manipulating their share of the
pie towards growing the pie. We show that equilibria are
efficient, with significant implications for applications.
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What Does Game Theory Have to Say?

Nash Program

Rubinstein – Stahl

Efficiency and Determinacy :  1/1+d, d/1+d

Myerson-Satterthwaite
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A Bayesian Exchange Problem

Buyer

Seller
First Best
Surplus
= 70

c = 160
.5

c = 0
.5

v = 40
.5

v = 200
.5
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Social Choice and Incentive Problems (cont.)

Buyer

Seller

Second Best
Surplus
= 70 – (10/3)

Most Efficient Direct Mechanism:

Myerson-Satterthwaite establishes necessary
inefficiency

Loss is 10/3

v = 40
.5

v = 200
.5

no trade
c = 160

.5

c = 0
.5

(5/6)  p = 40

(5/6)  p = 160

p = 100
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Time Lost to Strikes in Various Countries

US: about 20 minutes per worker/year.

Canada: about 1/3 day per worker/year.

Spain: less than 1/3 day per worker/year.

(Kennan 2005)
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Contrast with: Getting to Yes (Fisher and Ury 2001)

• People want different things.
• Invent options for mutual gain.
• Get past the idea that there is a fixed sum.
• Think about a way to satisfy the other in a way that is good for you.

• Think about what you would like to walk out of the meeting with.

• Place multiple items on the table.
• Broaden your options and the options available to the other party.
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Let’s Think about

S:   40, 0, 40, 0, 40, 0, 40, 40, 0, 0, 40, 40
B: 50, 10, 10, 50, 50, 10, 10, 50, 50, 10, 50, 10

• Poor knowledge of what should be exchanged
• Better knowledge of overall gains from trade: approx known surplus

Building theories for this world
• We could trade one by one: highly inefficient!

• Jackson-Sonnenschein (2007) mechanism and knowledge
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Known Surplus:  A Simple Example

Demonstration of Jackson-Sonnenschein
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The Seller Offers Two Deals

He puts on the table:

• The first, second, and third good at price 75, and
• The first, second, and fourth goods at 75.

Alternatively

The Seller states his “type” and says that he will accept any deal (to 
be crafted by the buyer) that gives him surplus 35.

These are both share demanding 35 offers.
When one accounts for discounting, three goods (the right ones!) 
trade immediately and at a combined price of 40 + 70/(1+d).
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HOW THE AGENTS NEGOTIATE MATTERS

What if the seller offers separate prices for each of the four goods?  
The other agent can accept on as many as she wants and counter, 
etc.

An inefficiency theorem in the style of M-S, but about manner of 
negotiation.

Simplest example: 0,0 meets 10, 50 or 50, 10 (equally likely), known 
surplus 60.
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• Ls = seller’s worst continuation payoff in any seller-offer period in any 
equilibrium 

• When buyer makes an offer, he gets at most db(60 –dsLs) in continuation 
payoff

Consider seller offer (p,p) with some p>10. 
• Buyer accepts p on the 50-item, and rejects on the 10-item, 

if p < p* such that

50 – p* = db(60 –dsLs)
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Known Surplus

Almost Known (refinement) J, S, X

Unknown

(0, 8) or (8, 0) meets (2, 10) or (10, 2)

Both at 12

Second at 5

First at 5

Both at 12

(0, 8)

(8, 0)

(2, 10) (10, 2)

Negotiation vs. Mechanism
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